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SODIUM THIOSULFATE,0.025N,4LITRE W2276

IODINE SOLUTION  .025N    1L W2283

Starch Solution, 4L W2121

Run Number: Constant: 16000

Parameter: SUPERVISOR REVIEW BY:

Analysis Method: ANALYST:

Analytical Summary Report

Normality1:

Normality2:

9034

LB93677
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0.025

0.025
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Diff (mL)
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(g)

1 PB107062BL 50 14:4003/03/20180.004.904.900.005.005.021 0.000.10

2 PB107062BS 50 14:4203/03/2018201.202.382.380.005.005.011250 2.522.62

3 J1724-01 50 14:4503/03/201822.314.624.620.005.005.021 0.280.38

4 J1724-01DUP 50 14:4803/03/201823.814.609.224.625.005.041 0.300.40

5 J1724-01MS 50 14:5003/03/2018208.352.282.280.005.005.031250 2.622.72

6 J1724-01MSD 50 14:5203/03/2018206.762.304.582.285.005.031250 2.602.70

7 J1724-03 50 14:5503/03/201817.534.684.680.005.005.021 0.220.32

8 J1724-05 50 14:5803/03/201843.034.369.044.685.005.021 0.540.64

9 J1724-07 50 15:0203/03/201847.814.304.300.005.005.021 0.600.70

10 J1724-09 50 15:0503/03/201842.864.368.664.305.005.041 0.540.64

11 J1724-11 50 15:0803/03/201888.023.783.780.005.005.091 1.121.22
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T2 Diff = T2 Final - T2 Initial

Result = ((T1 * Normality1) - ((T1 - Value Corrected With Blank) * Normality2)) * Constant / Initial Volume

Value Corrected With Blank = ((T1 - T2 Diff) - Blank Correction(BL))

T2 = Titrant2

T1 = Titrant1
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12 J1724-13 50 15:1003/03/201847.904.308.083.785.005.011 0.600.70

13 J1724-15 50 15:1203/03/201841.114.384.380.005.005.061 0.520.62

14 J1724-17 50 15:1503/03/201844.184.348.724.385.005.071 0.560.66

15 J1724-19 50 15:1803/03/201845.854.324.320.005.005.061 0.580.68
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T2 Diff = T2 Final - T2 Initial

Result = ((T1 * Normality1) - ((T1 - Value Corrected With Blank) * Normality2)) * Constant / Initial Volume

Value Corrected With Blank = ((T1 - T2 Diff) - Blank Correction(BL))

T2 = Titrant2

T1 = Titrant1


